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f'k{kd vafdr ewY;kadu i=kf'k{kd vafdr ewY;kadu i=kf'k{kd vafdr ewY;kadu i=kf'k{kd vafdr ewY;kadu i=kf'k{kd vafdr ewY;kadu i=k

Tutor Marked Assignment

dqy vad % 20

Maximum Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke] fo"k;
Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) jfo ds ikl ,d lery f=kHkqtkdkj IykV ABC gS ftlesa AB = 9 ehVj] BC = 7 ehVj vkSj CA = 8 ehVjA
IykV dh Hkqtk AC  ds eè; fcUnq M ij ,d >aMk iQgjk;k x;k gSA ;fn >aMs dk 'kh"kZ fcUnq IykV ds dksus
B ij 15° dk dks.k cukrk gS] rks >aMs dh tehu ls Å¡pkbZ Kkr dhft,A (ikB 5 ns[ksa)

Ravi has a plane triangular pilot ABC in which AB = 9m, BC = 7m and CA = 8m. A Flag us hoisted at the
mid point M of the side AC. If the top of the Flag subtends an angle 15° at the corner B of the plot,
determine the height of the Flag From the ground. (See lesson 5)

vFkok/OR

(b) xehZ dh NqfV~V;ksa esa ruqtk iknzPN;k rhu 'kgjksa dksydkrk] Hkqcus'koj ,oa psUubZ dk Hkze.k djuk pkgrh gSA
izkf;drk Kkr dhft, fd og (i) psUubZ ls igys Hkqcus'oj dk Hkze.k djsxh (ii) dksydkrk ls Bhd igys
Hkqcus'koj dk Hkze.k djsxhA (ikB 19 ns[ksa)

During summer vacations Tanuja wants to visit three cities, Kolkata, Bhubneshvar and Chennai
randomly. Find the probability that she will visit (i) Bhubaneswar before Chennai (ii) Bhubaneswar
just before Kolkata. (See lesson 19)

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) vkidh d{kk esa 20 fo|kFkhZ gSa vkSj vkidks 8 f'k{kd i<+krs gSaA vkids f'k{kdksa ,oa izkpk;Z ds lkFk vkidh
d{kk dk ,d ,slk iQksVks ysuk gS ftlesa lHkh f'k{kd vkSj izkpk;Z izFke iafDr esa cSBs gksa vkSj lHkh fo|kFkhZ nwljh
iafDr esa [kM+s gksaA ;fn izFke iafDr dh eè; lhV izkpk;Z ds fy, vkjf{kr gks vkSj nwljh iafDr ds nksuksa dksus
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d{kk ds nks lcls yEcs fo|kfFkZ;ksa ds fy, vkjf{kr gks rFkk ;s nksuksa fo|kFkhZ ijLij lhV cny ldrs gksa] rks
fdrus fofHkUu izdkj dh cSBd O;oLFkrk dh tk ldrh gSA (ikB 11 ns[ksa)

There are twenty students in your class and eight teachers teach you. A photograph of your class is to be
taken with your teachers and principal in such a way that all teachers and principal sit in the first row and
all students stand in second row. If the middle seat of the first row is reserved for the principal and the two
corners of the second row and reserved for two tallest students interchangeable only between them, then
how many seating arrangements are possible? (See lesson 11)

vFkok/OR

(b) ,d fuekZrk ds ikl 600 yhVj 12% vEyh; ?kksy gSA bl ?kksy esa fdrus yhVj 30% vEyh; ?kksy feyk;k
tk, ftlls fd u, ?kksy esa vEy dh ek=kk 15% ls vf/d vkSj 18% ls de gksA (ikB 9 ns[ksa)
A manufacturer has 600 litres of 12% acid solution. How many litres of 30% acid solution must be added
to it so that acid content in the resulting mixture will be more than 15% but less than 18%?

(See lesson 09)

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one of the following questions in about 40-60 words.

(a) nks dkjsa ,d gh LFkku ls ,d gh fn'kk esa ,d lkFk pyuk izkjEHk djrh gSaA izFke dkj 50 fd-@?kaVk dh ,d
leku xfr ls pyrh gSA nwljh dkj izFke ?kaVs esa 40 fd-@?kaVk dh xfr ls pyrh gS vkSj mlds ckn izR;sd
?kaVs esa viuh xfr dks 4 fdyksehVj dh nj c<krh gSA ;fn nksuksa dkjsa fcuk :ds pyrh gSa tks Kkr dhft,
dh fdrus ?kaVs ckn nwljh dkj igyh dkj ls vkxs fudy tk,xhA (ikB 6 ns[ksa)
Two cars start together in the same direction from the same place. The first car goes with uniform speed
of 50 km/hour. The second car goes at the speed of 40 km/hour in the first hour and increases the speed
by 4 km in each succeeding hour. After how many hours will the second car overtake the first car if both
cars go non stop. (See lesson 6)

vFkok/OR

(b) vkidh d{kk esa 15 yM+ds vkSj 10 yM+fd;ka gSaA bu fo|kfFkZ;ksa esa ls pkj lnL;ksa dh ,d lfefr cukuh gSA
;fn lfefr esa de ls de rhu yM+fd;ksa dk gksuk vko';d gS] rks Kkr dhft, fd ;g lfefr fdrus izdkj
ls cukbZ tk ldrh gSA
(ikB 6 ns[ksa)
There are 15 boys and 10 girls in your class. A four member committee is to be formed from the students
of your class. In how many ways this can be done if the committee consists at least three girls?

(See lesson 6)

4- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) ,d fØdsV ds eSnku esa ,d NksVk pcwrjk cuk gqvk gS ftlesa 15 lhf<+;ka gSaA izR;sd lh<+h dh yackbZ 50m

gS vkSj og Bksl daØhV dh cuh gSA izR;sd lh<+h esa        m dh p<+kbZ vkSj       m dk iSQyko (pkSM+kbZ) gSA

bl pcwrjs dks cukus esa yxh daØhV dk dqy vk;ru Kkr dhft,A (ikB 6 ns[ksa)

A small plateform is made in a cricket ground. It has 15 stairs. Length of each stair is 50m and it is made

1
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2
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of solid concrete. Height and breadth of each stair is        m and          m respectively. Find the total volume

in construction of the plateform. (See lesson 6)

vFkok/OR

(b) ,d leckgq f=kHkqt dh Hkqtk 18 lseh- gSA bldh Hkqtkvksa ds eè; fcUnqvksa dks ijLij feykdj ,d nwljk f=kHkqt
cuk;k tkrk gSA nwljs f=kHkqt dh Hkqtkvksa ds eè; fcUnqvksa dks feykdj ,d vkSj f=kHkqt cuk;k tkrk gSA u, f=kHkqt
cukus dh ;g izfØ;k vuar rd pyrh gSA bl izdkj fufeZr lHkh f=kHkqtksa ds (i) ifjekiksa (ii) {ks=kiQyksa] dk ;ksx
Kkr dhft,A
One side of an equilateral triangle is 18 cm. The mid points of its sides are joined to form another
triangle whose mid points, in turn, are joined to form another triangle. The process is continued
indefinitely. Find the sum of the (i) perimeters of all the triangles (ii) areas of all the triangles.

5- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) vkids fo|ky; ds 25 fo|kfFkZ;ksa us rhu [ksyksa] fØdsV] iqQVcky ,oa ckLdsVcky ds VwukZesaV esa Hkkx fy;kA
15 fo|kfFkZ;ksa us fØdsV] 12 us iqQVcky] 11 us ckLdsVcky] 5 us fØdsV ,oa ckLdsVcky] 9 us fØdsV ,oa
iqQVcky] 4 us iqQVcky ,oa ckLdsVcky vkSj 3 us rhuksa [ksyksa esa ind izkIr fd,A Kkr dhft, fd fdrus
fo|kfFkZ;ksa us (i) fdlh Hkh [ksy esa ind izkIr ugha fd;k (ii) dsoy fØdsV esa ind izkIr fd;kA
25 students of your school participated in a tournament of three games namely : cricket, Football and
basket ball. 15 students received medals in cricket, 12 in Football, 11 in basketball, 5 in cricket and
basket ball, 9 in cricket and football, 4 in football and basketball and 3 in all the three games. How many
students received medals in (i) none of the games (ii) cricket only. (See lesson 1)

vFkok/OR

(b) ,d leku Hkkj forfjr >wyrs gq, iqy dk dscy ijoy; dh vkÑfr esa gSA 100 ehVj yEch {kSfrt lM+d
dks dscy ls tqM+s mèokZdkj rkj lgkjk nsrs gSaA lcls yEch rkj 30 ehVj vkSj lcls NksVh rkj 6 ehVj dh
gSA lM+d ds eè; ls 18 ehVj dh nwjh ij tqM+s mèokZdkj rkj dh yEckbZ Kkr dhft,A (ikB 16 ns[ksa)
The cable of a uniformily loaded suspenision bridge hangs in the form of a parabola. Vartical wires
attached to the cable support the 100 m long horizontal road. The longest wire being 30m and shortest
wire being 6m. Find the length of a supporting wire attached to the road 18m from the middle of the road.

(See lesson 17)

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below.

(a) o"kZ 2015 esa gksus okys fdlh fØdsV eSp dks nsf[k, vkSj fuEufyf[kr fcUnqvksa ds vk/kj ij eSp esa nksuksa Vheksa
ds izn'kZu ,oa rqyukRed fooj.k dks n'kkZrs gq, ,d ifj;kstuk izfrosnu rS;kj dhft, % (ikB 16 ns[ksa)
Observe a cricket match to be held in the year 2015. Prepare a project report indicating the perfor-
mance and comparison with respect to the following points. (See lesson 16)

1
4

1
2



14 xf.krxf.krxf.krxf.krxf.kr     (Mathematics)

(i) f[kykfM+;ksa ds O;fDrxr juksa dk ifjlj

Range of the individual scores of the players

(ii) izR;sd Vhe ds vkSlr ju

Teamwise average score

(iii) vksoj (overs) dh la[;k dks oxZ vUrjky vkSj laxr juksa dh la[;k dks ckjackjrk ysrs gq, nksuksa Vheksa
ds fy, oxhZÑr ckjackjrk caVu lkj.kh rS;kj dhft,A

Prepare teamwise grouped frequency distribution tables, showing the number of overs as class
intervals and corresponding scores as frequencies.

(iv) mijksDr ckjackjrk caVu lkj.kh;ksa (Hkkx&iii) dks vk;r fp=kksa ls n'kkZb,A

Represent the above Frequency distribution tables (part-iii) with the help of histograms.

vFkok/OR

(b) vius vkl&ikl ds de ls de 100 ifjokjksa dk uewuk ysdj ,d tula[;k losZ dhft,A (i) vk;q ds vkadM+ksa
dks 10 oxZ vkdkj ysdj vUrjkyksa dh lgk;rk ls n'kkZb,A (ii)f'k{kk] LokLF;] ?kj dk lkeku] Hkkstu ,oa diM+ksa
ij fd, x, O;; ds vk¡dM+ksa dks n'kkZb,A (iii) ifjokjksa dh vk; dk izlj.k xq.kkad Kkr dhft,A (iv) ;g Hkh
Kkr dhft, fd vk; ds vk/kj ij dkSu&lk ifjokj vf/d fLFkj gSA (ikB 17 ns[ksa)

Conduct a survey of population in your locality taking a sample of at least 100 families (i) Repre-
sent the data of age using the intervals of width 10 (ii) Display the data of expenditure on educa-
tion, health, household, food and clothing. (iv) Find coefficient of variation of the income of the
families. (iv) Also find which income group is more stable in their earning.

(See lesson 17)
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